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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A B,.C & D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in

front of each question with Marker or pen ink on the answer sheet provided.
-4_/%’(5{}“‘)5/(‘536;___ A1

1.1. is a graphical representation of an algorithm.

A) Matrix /& B) Graph .J!/ (C)  Flowchart & &,,b (D) Solution Jf
2. Which symbol in the flowchart is used to either start or end the flowchart? ?‘L(}‘g({g‘ Z 'é{(l}iwut‘pfywwfu:;ayﬁ 2

() Terminal %/ () Connector V54 (€) Process /% Q)  Decision $itlsd
N U)K 3

3. Expression (A+B).(A+C) is equal to: N
A) A+(B.C) ®) AB+AC /(C)’“ \\A (B. c ? A+>~C)
' { ‘ o~ X)L
4. One (1) megabyte is equal to: st LB (1)Ll 4
(1) megabyte is eq \\ /~ (1)
(A) 1024 TB ®) 1024 GB \ @5 1024 M\ /(D/ 1024 KB
5. URL stands for: / N\ “/’ " ‘e FURL 5
\

(A) Unique resource locator (B) W Nes cator (C) Um\(grsal é&e@ctyo/wtory ©) Universal resource locator

6. In IPv4, there a;?ﬁg;;\gr\oups sep N ‘\\\ S S RS Ve IPV4 6
(A) (/}/'r“‘\\ \a{\ , \\\ <C)\:///‘ : O

7. typicaily involve downloa}dm\g\ illegal software./ // a e JELSyss k:...‘)lzdiﬁ‘/ﬁfu:___ 7
(A) Counterfeiting ($iL-J? \\ "'\\,{,s (B) Hard disk .IoadingJ?:LC}}J{,
(C) Online pifacy&/’&gf’l}(jl’ > // (D) Client-server over use ),fmb’/.:xilf

8. ___ are the secrets that are playing ar’l important role for the sucess of a company. ‘qﬁ)unfugu’#’ Qy(&j"f’ \f;)bb})’/’é— 8
(A)  Copyright law ».*..«’DQK (B) Trade secret )b(}/lf (€) Conﬁdentialify&privachJ.,?gJ:lde)b (D) Patentest:

9. ___tag marks starting of the paragraph. i bwed 3 S oilig i 9

(A) <b> (B) <P> ©) <U> (D). <i>

10. HTML uses tag to underfine text - Und1ds G g Lo BE_ HTML 10

@ <> ® <> @ <> o) <a>
/f’(/ 249-09-A
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Computer Science (subjective) ~ (For All Sessions) u,)u*(,, ,J/
Marks: 40 (Group-l) Time: 1:45 hours
Section-l RWp— 1= Jile

2. Write short answers of any four parts of the following: [4x2=8] -’4":./;@QM#&H?.U?LJ{:.JJ_}@A .2
i. Define invalid test data. . Sesl e bl dfternt i
ii. Write two advantages of flow chart. -q’/gfﬂ)»&.&&ﬁ i
iii. Write any two strategies name for planning a solution. U7 /‘} 6L Ul 5§ Sae S i
iv. Why trace table is used? ?c‘_tlggdb‘:flux.( J"'u’»‘/‘ v
v. How many types of tags are used in HTML? /"\u_&t\Z_ bL J Bl r:’ (ff HTML v
vi. Write the output of following code: <HTML> i \ u//fa_f.w U stn vi

< body > i N

< HI > Hello 9th Class < /HI | i \
,-tf"body >
// <7‘HIML S\

3. Write short answers of any four parts of the foll(wm&\

. Define the hexadecimal system.

N < il )S
ii. Write two examples of secor}da}y memory. \@M]

iii. Convert (156);, into binary Kumber éys’(

iv. Write down Associative
A
v. Explain copytigN\IaW.
vi. Explain th, Xsoft Iifti\ﬁg A AN
f . l;?
4, Write shéﬂfnsvbe\rs of an)\four parts of the foltowing: 2=8]
/
i. Explain the apphcat:\\shanng N, )/ e
&
ii. Determine the two advant}&es of star\topology
iii. Define the router, \\ /
iv. Write the names of TCP/IP Iay?s/f/
v. State the purpose of definition list.
vi. What is meant by colspan?
Section-li

Write answers of any two questions from the following: [8x2=16]
5. Suppose a problem has multiple algorithms, how should you choose the
8)
@)
7. Describe the importance of encryption for every day life on the internet. (8)

250-09-A

most efficient algorithm to solve a problem?

6. Describe Bus and Ring topology.

J«wf Jx;u:m» 3
\\ ‘ v ,er&‘";:ﬁ J
\-\ -g;fu!wJ G2 i
-2Vt B3ES (156), i
.y ST O
-c{.»u, u;‘b../bgéb’ v
___éyu:d/ﬂ.‘)l/ Vi
“Eyfe v M it 4
TN 6 = N R
- B i
-5 i
- L ASTCPIP v
<q/u.l_f.,u5‘K¢)cﬁ‘2ﬂ"3 v
S sl e 76 i
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Computer Science (Objective)  (For All Sessions) (& U:’,V e
Marks: 10 (Group-ll) [Awr~2—>% Time: 156 minutes

&v&/dlruu,quf ym_,v;nzf‘ugéé;w,C,B,Aagrz;ﬁgédwg‘éggwmu%/(sfd)auzéauwa =

eSSBS e UL D L CB A7
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers ABC &D to

each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in
front of each question with Marker or pen ink on the answer sheet provided.

1.1, Which solutions are not reached through proper algorithms planning? ?rbwd:lc—uc&rbj’mu/V){fJ A4
(A) Prepared solution J’uﬁ/g (B) Candid solution J’;’l:( (C) Strategized solutiond’df{y =P (D) Best solutionJ’uj A
2. Ina___ eror, the solution is working but not giving required results. -t‘ﬂsué_)Jy'ﬂ&/)i%fﬁ*}(ﬂﬂﬁc.p& JL J(B 2

(A)  Random error J_/'(:‘{‘,J (B) Logical error /;U?u (C). Syntax error ;{l‘f@f (D) Runtime error Jg'(/Bu/

3. Hexadecimal system has total number. | o <&;"/ > ui&)"jlyf’v 3
@) 17 ®) 16 © 38§>O D) 45
O% Iy

4. One (1) petabyte is equalto ___. E@ ce el ALl 4

@A) <L (1024)" byte B A (1024)° bﬁ@@ 4L (10257 be (D) =t (1024 byte

0 e Be VWAL R IPVE 5

5. The IPV4 address is made up of ___ binary bits:

A 3@ © 32 ) 30

6. DHCP stands for: - i¥¢__DHCP 6

(A) Data hosting computer protocol (B) Dynamic host computer protocol.
(C) Dynamic host configuration protocal. 2 (D). Data host configuration protocol
7. Whichis NOT a type of piracy? ™. e AASEA S T

(A) Soft lifting e (B) Liabiity $sis-3 (€} Client server over use JgmbspeE (D) Online piracy(f.}gcfuuf

8. Which of the following is NOT cyber crime? ‘e ff AL SLs B
(A) Hacking E&e (B) Phising crime /1/_& (C)  Identiy theft S=3t> (D) Decryptionc/2A4 3

9. An individual list item which can contain another entire list is called: :c,&&@.&cﬁyuluﬁ/ﬂl‘%%ﬁ:}.ﬁ 9
(A) Ordered list &~bo"7  (B) Unordered list el (C) Nested list w2 (D) Definition listeAaid P

10, HTMLis not ___language. e LR gHTML 10

(A)  Programming ué'/j{ (8) Markup .?,ijl. (C)  Hyper text hv..c/:’ l> (D) BothB&C U#CsiB

[74 251-09-A
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[Roll No. < Jp#tuel|  SSC.(Part)iA-2024
Computer Science (subjective)  (For Al Session:) OU"V b
Marks: 40 (Group-l) Time: 1:45 hours
Section-l Bwp-2—2% Jilo _

2. Write short answers of any four parts of the following: [4x2=8] -Ef.-’:{f:«w/"?ﬁ'l}!bgc.dfc_uﬁJ:JZw .2

i. Explain Act it out in planning  solution. -g!yu,&.ﬁ.:,g ok lufdxr.f:"”&f i.
i. Write two steps of problem solving. .y ﬁ:tém/::y = &Sk i
iii. What is meant by identification and correction of errors? S‘c;_.-.)?t;&.d’wﬂ(ﬁi EUbe jii
iv. How can we select the best solution? ; ?ugé/cj_f S F v
v. Write the use of font tag'. -gg,’:/_,/fdlﬁ"lb’..ﬁ "Font" &7 v
vi. Write the purpose of < a > < /a >. _ | _5?:;)}"»5?(< a></a> i
3. Write short answers of any four parts of the following: [4x2=8] . -%i@;ﬁ:plz bycéi::;gﬁgf_}bu .

i. Define binary number system . O<Q> ", _.é._y/'{f(lbﬁdmélf i
ii. Convert (156)yginto binary. é&% _é;tiﬁrwabff (156) .ii
iii. Differentiate between memory and storage @ _gfi:u,t_aJ/'uﬁfy')#nidu{ i
iv. Draw the truth table for "P AND Q" L&A "R AND Q" iv
v. What do you mean by sabotage? @ vg_,yg;,um,,f“ v
vi. Describe the cypﬁer text, Il v
4. Write short answers our parts of the follovling: v [4x2=8] -z-f;f.:I_.'z/sz;IZby:_,J:ﬁ—.uﬁJJ(w

i. Define router -u,/.y/U;su d
ii. What is network of networks? St L L St s i
iii. Explain SMTP. _J o lon S SMTP i
iv. How is routing done in internet? ?c‘-_alggfé_ﬁiw.:{‘/“! A\
v. Write output of the following: < p > This is < br > a paragraph </p > -q/f/ /’.*/..}rJJ;(,u v
vi. Explain that HTML is not case sensitive. -q—uf-‘;z“fu‘r{"HTML,{qf.wu: AV

Section-ll (93a47
Write answers of any two questions from the following: [8x2=16] -é{f.—.« w:L U)‘lf»;&l(a-u: J_ $1O%]
5. How do you determine requirement of a flow chart? (8) ?@Z:ilgff_pr%(.:ug:‘sc{ .{T .
6. Describe Star and Mesh Topology. 8) LI ICH T
7. V\_/hat is cyber crime? Explain its any three types. (2+2+2+2) -J,/-"-’ D:J(Ll"iu’.’ U éfJJl?c‘- t‘nl[(/ f/f.’ .
252-09-A o
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Roll No, oSt {For all sessions) Paper Code | 5 | 8 | 3
éfjﬁ‘"iipﬁhh e Scienmee (Objective Type)  Group-I- wsf (LS ) (/w -7 5"”(
Waris: 16 Time: 15 Minuntes L3159 pr'q 10/"’(

AN Y63z dan N St LD C B AR L s 22508026 ezl e tiyp g 9
. -J,,wc,quu~Lf/t,f¢._/u.‘1w SUsALD L CB A szl
NOTE: Write answers to the guestions on objective answer sheet provided. Four possible answers A,B,C & D to
sach guestion are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front
of each guestion with Marker or pen inlk on the answer sheet provided.

1.1, Dividing a complex problem into smaller problems is called: <N bt t/,»:"‘} qu,"/‘i.;{:ﬁt’»nfﬁ A4
{&) Divide and Conquer L{f E'jm(,[/(.‘.j {B) Guess and lmprove ujfly. ﬂ(J"L,}:/ﬁoﬂJ-'f
(T} Act i out LTt L ‘ . {3y Prototype »
2. The symbol=====-=sin the flowchart is called : @ Sl tlof s B 2
&) Arow (sl {B) Flow line ¢/Usb {C) Di @@.:x (D) Start b
3. The number of digits in hexadecimal number system O% : Jﬂ ' )MJU,VM@E(@UJMJ{J “517? 3

5]

(-; :m“ ) 8 &C) 10 (D) 16
I

4, Expression A+(B.C) is equal to _ :q..(}ﬂ.zlz.f— A‘F(B.C)(:j;"'ﬁgl 4

{&) A(B.C) (B Ax( (C) (A+B).(A+C) (D) (AB)*A.C)

5. Wuntber "18" is equal to in binary System: e byrdl “18” /:/.uf("/ S
) 101000 {®) 10010 ' (C) 10110 (D) 10000

6. Every data packet has an acdderass. :a(:,bﬁuffxy______‘,g bﬁbgbjﬂ 6
{&) TGP (B} FYP ) P (D) HTTP

7. feking illegal copies of softwarsiscallsd ¢ :@M t:lzdﬁdit?j&_‘y&l/ g
{85 Encrypiion (bl {8) Piracy u‘.).fit_ {€) Computation (fw“;:'{ {D} Decryption o 4§5

8. _ s responsible for the protection of your family's data : ::.,L}unf *M_______djl:ﬂmlc}mf L3l .8
{&) DCO &) CPO {C) WADRA {D) LRO

9. The __ element is a container for metadata : ::‘;.C‘ale’g}(zyﬂer .9
{#4) < body > (B) < head > (C) < title > (D) < htmi >

10. Which tag is singular tag _____ - : 44:.»5‘/;‘:;...1? Vs .10
{2 < body > (B) < head > (G) <br> (D) < title >

49-09-5-Y¢ -40230



8.5.C - (Purt-1)-A-2022

l Roll No.____ B A el (Eﬁw all sessions)
RWRGIDY
Computel‘ SC]BHCQ (Essay Type) ATOUD- J{m; o) ’(,@41'5'5}'
40 J{ L.J:l
- Bedx2 - | -&F /Wu,',/ UL A e e S e
el e i il S P e Lo i “"”r““ S b S
) GRS AL (80), i e bt S v I = S5k
8=4x2 . v‘?“"'f ¢ ;’/QJLH./TU%'G:.-L '&:,.1 4 J 3G =3
EBFE I i e tidhe LG HJF i L SRS S P 0
S L BIP i e Al I fUIR | ._:?-,’.,_.«f/¢5'~ iy v
alaes -é.:"”’r’nll:/’ AL TR Y S
e t‘v-l/u 33 Lok GHTML i “/ L ;J’L» - S Cammpr)fc.ii .s‘;_‘_,_mr"’/‘gfl;/lf)m i

:(/; J')’/”/{,‘,JLJ"
&S K " Love Paiistan” o i S U iUSHTMLE, KG<P> v i J«:‘[ m’» 1o u{,‘ i u* HTMIL v
S ErEd ML * ;w‘{’qg
16=2x8 .
= 4,}-13&455[’:' 15 2._;‘;,;;

fer

280" B

..um h#)’/V/'JjJK /»—-‘/ r"‘Lf L;)JD//// ..7

Computer Science (Essay Type)

ime: 1:45 Hours iw:a.-. Minprlss Ad

2- Write short answers of any four parts f 2ud=8
i. Write problem solving four steps.
i. Write any two advantages of fl
. What is meani by Test data. iv. Describe types of memory.
v. Why RAM is calied volatile memory. vi. Convert (1690). T inta binarv.
3- Write short answers of any four paris from the following. L=
i. Draw a flow chart for the preposition. P.Q+F i, Write down any two disadvantages of Mesh Topology.
iii. Define Distributive Law. . iv Define Boolean expression.
v. What is SMTP. . Write down the standard names of IP addressing.
4- Write short answers of any four parts from the following. 4=
i. ¥What do you meant by Dos? ii. What does the scammer websites play rcle in cyberciima?
ii. What is Head section of HTML document? iv. How many types of lisis can be ¢reated in HTML? Write their
names. ,
v. What is the use of tag <P> in HTML vi. Write code in HTML. to change thie color to "Biua" of the texi
"I Love Pakistan”.
Section -1% Bx2=16
Mote:Answer any two guestions from the following.
3. Write a note on planning of a solution. 6. What is meant by star topology how does its work also

write two advantages.
7. Write a note on importance of Encryption for Everyday
Life on the internet.
250-09-5-40230
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Roll No. | v (For all sessions) Paper Code | 5 | 8 | 3

f, 5 . ‘J“r
Counputer Sclence (Ob )LChVC Type) Group-Ii- s (552 s

Miarks: 10 ' “Time: 15 Minutes ¢>15:c% R wp - c} 10://

/fdfmjf,,;qmz.uffw»u 'fu'i(f L&D CB Aww,ﬁbiidly/—g%mnf ezl vyt d

) -u,f‘c,wuju%/ l.f../b,ahfc.u“u:/bﬁ.DL C.B Asze L
NETE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to

each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front
of each question with Marker or pen ink on the answer sheet provided.

1.1, Which solutions are written without work planning?

94.rtgu5:.d,&,r*,f’f¢,}’<ff 1.1

&) Prepared Solution Sl (8) Candid Solution (J34S
(C) Strategized J’u"/d’ 2 {b) Best Solution Ji #
2. lna_____ ernor, the Algorithm is working but giving wrong vlz)‘;_ tmpdi(zfjlc.,p& (fh u(r:J
result. g bty s Bl
(£ Rardom ermor J{!(fg:x_J {B} Logical error 4!.)% 0
(€} Syntan eror glu’g T : () Runtime ,/l("’ b
§><>@ o
3. Mumber (18),, 18 egualto __________ in binary system : & ebvesledl (18)10/,/@'(""/(5/‘@ 3
{£) 10000 {2 10110 10010 (D) 10100
4. is & device which holds data as long @éspower supply ng_ELﬁ!)J Jf'..i/‘zc‘..ﬁwg____ 4
connected o it @ " :4,0\( 74
(&) ROM u () RAM (C) Hard Disk 354 (D) Memory cards 3.6Unt
5. | both propositions are true th 2 will be equal to : By slP. Qﬂurw;:meu:’»,./ B
B = | live in Punjab = Unl e BeUs
e iy sounty 1s Paldstan Q= c‘,ub@_ﬁlfx
{#) False {&) True {G) Negation () Indentity Law
8. How many layers of TCPAP Model. wAFSUsTCPIP 8
) 6 w5 © 4 ) 3
Y. s responsible for the prolectlon of your family date: :q._.(“}nd/b,)}(,( dﬂ)ﬂmi&(}n}/ l‘d&lﬂl; T
{2y Arviy (&) FIA {¢) DPO (D) NADRA
8. s the process of sncoding data: - e Jf Kd;kﬁg’éd/ G5 8

{5y Enciyption (bi () Sabotage (/6c (€} Piracy (5.4} (D) Soft litting L3
Co Y bls :

¢, What king of list will < 01 > tag creaie: _:g,t'tzL;JJr:’ f<ol> 9
(5] Nested List o/ke  (B) Ordered List 25T (€} Blank List w6
10. < A > and < A/ > tags are used for :ng“.,ﬂd(ﬁ’l.,? <fA>un<A> 10
() Adding Image £/ by {8) Creat alinkto page BALE
{C) Adlighimend Texd b (D) Formatling Text b S Bl
251-00-S-Y¢ 29590

(D) inordered List &35, T



Roll No.
Cemputer SCILNCE (Essay Type)

40 /"’J{
8=4x2
SOl LT (Sed e Ut i
S B0 (156), , .vi

v ,
= //,u’ﬂu__/l

8=4x2
LAY IT i

bWl ATEILE i

=4x2
LS P HTMLEL & ttalic/“ Pakistan” £ i
e Un TP LT HTL v

16=2x8

S.8.C - (Fart-1)-A-2022
{For all sessions)
(ZEH) U L*

Group-11 m_dp/’

J*‘| o p.q tﬂs 0.
_@.f/wwwv'ﬂ"‘r-daf S5t 2

Sl FRS i T sl if¢_w:lwfjl i

Gt Sttt Fitss YKZT—J‘/'L{(--(’U!)L_}/ s v

W
:gf-_«lflf/“' Lr’f’/(f«,«d Q.JJJL:J ~
LF;/}}/‘L:{L/JLJ’UC‘:{M ‘OR’ ii q.,j/ulufu'du sl
Lk
eI S SMTP v e e GALU! i

-&% //‘LU?}”’?:»UM"; 7@LfJ)F;J -4

-/ /i 78 Phishing ii TS o U
SIS v W HTMLE i S e G iy
o0
)

I U!rw.;,*(;”':' uf()'ﬁﬁw "-“do'

3

SrUtsdlne g aben 7 PRLE S u,c V8 AL A e S ASE s
Sl LBl S _é{fwtw
Computer Science (Essay Type) (For all sessions)
Time: 1:45 Hours Total Marls: 40
2- Write short answers of any four parts. 2n4=p
i. What is meant by act it out?
ii. What is meant by trace table?
iii. What is the use of "Set" nota in iv. What is meant by hexadecimal System?
Algorithm? 7
v. Differentiate between volatile memory and ~ vi. Convert ( 156)10 into binary number system?
Non volatile memory?
3- Write short answers of any four parts from the following. 2xA4=8
i. Define Compound Proposition. ii. Draw Truth table using 'OR’ operator.
iii. Define Associative Law. iv.. What is meant by Bus Topology.
v. What is the use of SMTP protocal. vi. Howto make Star Topology.
4- Write short answers of any four parts from the following. 2x4=3

i. Describe the two weaknesses of substitution .

ciphers method.

iii. Write the HTML code to make the word
"Pakistan" italic.

v. Define rowspan.

Define phishing.
iv. Write the HTML code using font tag.

vi. Which elements are needed to understand HTML language.
Section -I1 8x2=16

Note:Answer any two questions from the following.

9. Define Algorithm? Write a note on three advantages 6. Define data Communication. Describe any three
and disadvantages of an algorithm. components of Communication system.
7. What is software piracy? Explain its any three types. '

252-09-S-29590



WHRW 5.5.C{Part-I)-A-2021
[Roll No. Jiingl|  session:2020-2022 [ Papercode [ 58 [3 [7]
Group-| ;f
5 im . -
Computer Science (objective Type) P-al o W) J L«/{;{
Marks: 10 Time: 15 Minutes 15:=% 107

Arsigfiz S en o g L4 D CBAS U!J?LJV;E.‘!%QQLZU%/’&@J;LE&; dypla s
e FSB I Fo3e LULD L CBA sz& L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers ABC&Dto
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front
of each question with Marker or pen ink on the answer sheet provided.

1.1. The IPV4 address is made up of____binary bits: eBa VWA URLIPVE 1.1
®) 31 ®) 29 & 2 () 30
2. E-mail stands for__: e Y2
(A) Electrical mail S (B) Electronic mail  Jfy %!
(&f Electronic medium £ 4629 (D) Electronic message  Gfs<)
3. Making illegal copies of sofiware is called____: Z‘Lt'ﬂr(  tJEWAS R 3
(A) Hacking £ 8) Piracy &4
(C) Counterfeiting (S J? (D) Sabotage Usbecf
4. 7_1'5 used for authentication to enter a system: :‘ut,wb&wéqﬂa SNt 4
@A) Key J (B) Piracy (&7 (C) Patent =2 (D) Password s
5. The element is a container for meta data: :‘ctﬂt‘c = I
(A) <body> (B) <head> (©) <titie> o) <
6. tagis used for inserting a line break: bl & S L 6
(K <br> (B) <hr> (C) <u> O{@ <b>
7. ____is a graphical representation of an algorithm: @% :‘ajtfgld{ﬂ.__ﬁb’z,m___ 7
(A) Matrix 5 (B) Graph L (€) Fiowc ’é (D) Solution

8. Which word refers to something spontaneous and unpia 7 ?‘clz).}lib’d;&.,f’/fxﬂw/ 8
(A) Actitout  25Teiek aqtlid solufion skl

(C) Prototype  =»* tga il
9. Number "17" is equal to in bin ,@ & brds L "17"/12u‘.’f"" A 8
(A) 10000 (B) 10110 (D) 101000
10. is used to assemble more-than one proposition :+3_c£ivu§;‘ﬁi41{i ekl 10

into one proposition:

Proce

(A Simple proposition  ifignle . (B) Mixed proposifion efRRlgLE o

(5 Compound proposition  ¢iglz k5L (D) Full propesition J”—J;L;J‘(

249-00-A- T W —




S8.S.C<Part-I}-A-2021
[Roll No. _______ Jiuiin | sesRsion-zo‘z'o‘-zozz
N - - 2 ' o/
gt ) J"V/‘g,/

40:/; J JJ‘.—"D & 1455,
8=4x2 -éﬁguﬁ’éuzug‘.&‘;‘bw 2

e dndedlis el Pt i el SATHER i P e ISP
el LHIRHTML Vi SOl BHTML v Seaiptle L/ B/ v

8=4x2 -éf;uz/"a:,lzuygdfgmbw 3
LI R 6 e (156),, i fe oy i /PG TOR i
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2- Write short answers of any four parts from the foll 2x4=8
i. Write any two problem solving steps. . What is meant by the efficiency of an algorithm?

iii. What is the purpose of using terminal symbol jn fi ? iv. What is meant by divide and conquer rule?
v. What are two types of HTML tags?

3- Write short answers of any

vi. What is meant by line break in HTML?
from the following. 2x4=8

i. Define OR Operator? ii. What is byte?
© i Convert{156);; to-binary system: —iv—\What-is-hard disileading?——~ —— — ——— - — ..
V. Define Piracy. vi. Define computer memory and write the names of its type.
~ 4~ Write short answers of any four parts from the following. 7 2x4=8
i. Define the computer network. ii. What is file transfer protocol(FTP)?
iil. What is meant by protocol? iv. What is simple mail transfer protocol(SMTP)?
v. What is meant by singular Tags?  vi. What is difference between Hyperlink and anchor?
Section-II 8x2=16

Note: Answer any two questions from the following.
5. What is meant by planning in problem solving?Describe in Detail.
6. Expiain the routing.
7. What is meant by encryption?Explain the importance of encryption for everyday life on the intemet.
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B.C& D to
each question are given. Which answer you consider correct, fill the corresponding circle A,B,C or D given in front
of each question with Marker or pen ink on the answer sheet provided.

1.1. _____Tag makes the enciosed text bold: e bnded s Sl B8 44
(A) <boid> (B) <bd> (©) <br> (D) <b>
2. Tag makes the enclosed text underiine: :q.tndb’f@&i_ﬂvfu,i.é.w?..ﬁ_ 2
(A) <p> (B) <b> (C) <u> (D) <i>
3. Which solutions are not reached through proper algorithms or :_(Planning)..éu,-ﬂ,m.,zvfd"f 3
work planning? AR g
(A) Prepared solution  fsu.tr (B) Candid solution %4/
(C) Strategized solution  fyte’ (D) Bestsolution ey 7
4. _____isa setof steps to solve a problem: ) e rtbe AL S A@) 4
(A) Flowghart O . (B) Alogrithm @
(C) Guess izl (D) Prototype -+ &
5. Number "17" is equal to___in binary system: & @L___"W"/uﬁﬂ‘/ J /'-'g 5
(A) 10080 (8) 10110 (C) 10001 @% (D) 10100
6. 1Kb=_§__8yte: If_/,l/,.‘,;”l‘.}f‘l B8
) 1000 " (B) 8 ©) @ (D) 4
7. The receiver must be capable of accepting the __ :’ég.l;thG‘Lé_fdi___pﬁOfrr@; 7
(A) Protocol Ji%; (B) message rhe Y Adress Rkl (D) Information =\
8. Routing is process of taking data fre ice and sedingit < /»fL&:‘c.LU_ﬁLﬂf‘adf by 8
to another device in different ety BT
(A) Channel ¥ (B) Network ) st (C) Path 4, (D) Area |/
~ ey onidea— L.y M s
(A) Patent ot —-————B)-Cepyrghttawwrdtengy o
- ey Tradesecres  UG% . (D) Fraud B
10. Encoding of data is an example of ___: e el 1 0

(A) patent ook (B) Confidentiality (fisl, (C) Copyright -».f’l/QK (D) Encryption (/.5
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2- Write short answers of any four parts from the following. % 2x4=8

i. What is meant by understanding problem?
iii. What is purpose of usiﬁg the decision symbol in a flowchart? @; ine Algorithm.

v. Which software is used to create a webpage? i. Wiite the method of writing the attributes of the Tag.
3- Write short answers of any four parts f; e following. 2x4=8
i. Write the use of truth table. ii. Define logical expression.

iii. Define memory and write the n

iv. What is copyright Law?

v. Define encryption. vi. Write truth table of NOT Operator.

o 1 What are the parts-of message? i Define HTML tag <p>.

iii. What is the function of Physical Layer? iv. Define the term FTP.

v. What is meant by Hypertext?
vi. How is a computer network helpful in increasing storage capacity?

Section -II 8x2=16
Note: Answer any two questions from the following.
5. Explain defining a problem.
8. Explain the basic Components of data communication.

7. Explain the types of cyber crime in detail,
252-09-A——

4- Write short answers of any four parts from the following. . 2x4=8




